Algebra 2 4.7
Write a quadratic function in vertex form
Transforma-quadratic functions

quadratic Wl 1S R UQHW

vertex

completing the square

vertex form

parent graph

transformation (Ch. 2.7, also geometry)
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Write each function in vertex form. i Sa (move c)
of¢ 7 e
a. vy =E2 - 6x’— 5
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h= a(x-3)%



b. y = —2x2 +8x — 3 Move ¢

b&-'§= -a(y"_(/x.gq) Solve for y
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compare to parent graph

Standardized Test Example 2 nevenaGaph | e

Which is an equation of the function shown y
in the graph?
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~¢ c %« which equation works with (x,y)?



: ) compare to parent graph
GuidedPractice

2. Which is an equation of the function shown in T Tk [ P
the graph? 2 | (413 @ :;’
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From Ch. 2.7...

ConceptSummary Transformations of Quadratic Functions

. fix)=alx—h?+k

‘ h, H?izontal Translation
homits to the right if his positive

| h| units to the left if h is negative
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k, Vertical Translation

k units up if kis positive
| k| units down if k is negative
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a, Reflection a, Dilation
@05 .If a > 0, the graph opens up. e graph is stretched

hlﬁ" a < 0, the graph opens down. vertically. If 0 < | a| < 1, the graph is
compressed vertically.
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Graph (parent graph)
Practice
3A. y = (x — 3)?
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3B. y = Q?S(x +1)% 4 O In terms of the parent graph
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